XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI F.M-8
Sub:- Biology Time: 2 hrs.
PART — A (40 Marks)
(ALL QUESTIONS ARE COMPULSORY)
) Fill in the blanks:- [10x1=10]

1) The .o, are used for tearing the food.
2) In an adult human, there are atotal of .................. heet
3) Animalcellshavenocell............................
4) Plastids contains................c..ooee.
5) Air bladder in fishes help them to adaptin ................. habitat.

In)

1D

V)

6) Camels are also called ............ of the desert
7) Wisdomtoothisthelast .............c.ccoooiiiiinnn,

8) The white hard layer which surrounds the crowreited the..............

Q) are used for biting the food.

10) The saliva binds the food particles and make @ amass called ......

Define the followings:-
1) Digestion

2) Assimilation

3) Cell

4) Habitat

5) Adaptation

State true or false:-

1) Proteins are digested into fatty acids-

2) Molars help in tearing the food-

3) Carbohydrates are digested into glucose-

4) Leukoplasts are colourless plastids-

5) Animal cells have large vacuoles-

6) Plastids are the organelles that controls iNisies in the cell-
7) Vacuoles contains cell sap-

8) The gills are the breathing organs effectivey amwater-
9) Whales are marine mammals-

10) The hump of the camel is full of proteins-

Name the following:-

1) The type of body which is pointed at both endsntbin fishes-

2) The habitat where camels are found-

3) End products of starch after digestion-

4) The organ where protein digestion begins-

5) The enzyme which digests fats-

6) The organ into which the pancreatic juice and joilee are poured-
7) The part of tooth which can be seen-

8) The bile juice is stored in-

9) The finger- like projections in the inner linningtbe small intestine-
10) The green coloured plastids-

[5x2=10]

[10X1=10]

[10x16]L


http://cbs.wondershare.com/go.php?pid=5264&m=db

PART- B (40 Marks)
All the sets are compulsory

SET — 1 (10 marks)

1) Explain the digestion of carbohydrates throughdalimaentary canal (4)

2) How do camels adapt themselves in the desert? 3

3) Describe the 3 types of plastids present in thetmall. 3)
SET- 2 (10 marks)

1) What is the role of liver and pancreas respectiirelyre digestion of food? (4)

2) Write 4 adaptive features of fishes. (4)

3) Rewrite the following parts of the human alimenteayal in their correct sequence-. (2)

Stomach, oesophagus, large intestine, small inesgpharynx.

SET- 3 (10 marks)

1) Explain the digestion of protein through the aliti@en canal. (4)
2) List the major 4 differences between the plantaetl animal cell. (4)
3) Identify and name the 4 types of teeth, shown belod/state their functions. (2)

SET -4 (10 marks)

1) Draw a well labeled diagram of a fish. 2)
2) Why do organisms adapt themselves to the surrogadimere they live? 3)
3) Give one difference between the following - (2)

Abiotic and biotic factor
Bolus and chyme

4) Name the parts 1 — 11 indicated in the diagramvioelo 3)



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI-IX F.M-80
Sub:-Catechism Time: 2 hrs.

I. Complete the following Bible passage: 10

Luke 5:27-32

............................... went out and saw.a................. collector named ...........sitting at the
customs post. He said to him, “................. me”. And leaving everything ............... ,.he got up and
...................... him. Then ...............gave a great ................ for him in his $®uand a large crowed
of . collectors and others were. at........ with him.

Il. Choose from the following ‘who was it' and ‘whosaid it.’ 10

1. He preached in the desert.

2. “We have found the Messiah.”

3. He came down like a dove.

4. “Follow me.”

5. He tempted Jesus in the desert.

6. “Go away from me, ‘Lord’, | am a sinful man.”

7. He taught in the Synagogues.

8. “You are the Son of God, you are the king chddr’
9. He healed Naaman the Syrian.

10. “Why does he eat with tax collectors and sig@ér

[1l. Match the following: 10
1. The theological virtue Hell
2. The cardinal virtue Meekness
3. Eminent work Diligence
4. Evangelical counsel Temperance
5. One last thing to remember is Justice
6. We cause the guilt of another’s sin Brotherliness
7. Sloth Charity
8. Envy Poverty
9. Gluttony Almsgiving
10. Anger By being a part in the sin
IV. Write TRUE or FALSE for the following sentences 6

1. Shelter the imprisoned.
2. Bury the naked.

3. Convert the sinner.

4. Comfort the sorrowful.
5. Forgive the doubtful.

6. Visit the thirsty.



V. Answer the following questions given below: 20

©oNo Gk wNPE

When are we answerable for the sins of others?
What are the four last things to be ever rememifered
What did the John the Baptist say to the people?
What did God say from heaven?

What did Jesus do after he returned to Galilee?
How long was Jesus tempted by the devil?

What did Philip tell Nathaniel?

What did Jesus say to Simon?

Why did Jesus choose twelve apostles?

10 What instructions did Jesus give to the twelve tHps?

VI. Write the following prayers:

1.

2
3.
4.
5

Prayer for success in examinations.
Prayer before meals.

Prayer after meals.

Any four beatitudes. 4
Act of contrition. 5

VII. Write your own reflections: 8

1. How can you keep away from doing things thatvaang?

2. How can you become like one of the apostles?



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018
Class: VI F.M-80

Sub:- Chemistry Time: 2 hrs.

SECTION: A (40 MARKYS)

|. Definetheterms:
i) Atomicity i) Mixture iii) Crystalliséion iv) sublimation v) Alloy

1. Write one difference between the following:
i. Metal and Non-metal
ii. Water and air
iii. Element and compound
iv. Homogenous and heterogenous compound
v. Pure and impure substance

I11. Classify thefollowing substanceinto elements and compounds:
Mercury, Sulphur, Sugar, Water, Coal, GxygAlcohol, Brass.

IV. Writethe symboal of the following:-
Carbon, Calcium, Gold, Silver, Zinc, Copgdeon, Argon

V. Namethefollowing:-
i) The clean liquid which is poured after ipeehtation.
i) Two substances used to make jewellery.
iif) Two substances soluble in water.
iv) Two substances which can sublime
v)The method of getting a pure liquid fromodusion by evaporating
and condensing the vapours.

V1. Identify the metal which isused to make
i) Ornaments iii) pipes to supplgter
i) Filament of bulb iv) foil to wrap thleod  v) Electric wires

VII .Givetwo examplesfor each of the following
i) Metalloids i) Nobel gas

VIII. Givetwo examplesfor each of the following types of mixture
i) Solid-liquid iii) Gas-gas
i) Solid-liquid homogeneous mixture iv) Solichsg

IX. Namethecomponents present in the following mixture
i) Brass iii) Bronze
i) Steel ) Duralumin

X. Givereasons.-
i) Why is water a compound and air a mixture.
i) Why do sugar and water retain their indial properties in sugar solution?



SEC B (40marks)
Answer any four guestions:

I. i) State two important characteristics afhpmunds.
i) State the number of atoms of each kprésent and also name these compounds.
a) 1206 C).BQ,
b) CkCOOH d) bEOs
iii) Why do we need to separate the mixture?
iv) Why graphite is used to make lead afqs.

Il i) State three informations obtained from ttwrfula of a compound
i) What is the proportion of elements pradga the following compounds?
a) H-0 b) NO
iii) List four characteristics of mixture
iv) Explain “Metals are ductile and malleabl

I11. i) What is sedimentation and decantation?
i) Select homogenous and heterogeneoutireixrom the following

a) Petrol and water e) Charcoal
b) Mist f) Alcohol and water
c) Brass g) Charcoal and water
d) Sea water h) Iron filling and sand

iii) Draw the diagram of a distillation flask

V. 1) Show any two diagrammatic representation ofetwales of elements and
molecules of compound
i) Why a frying pan is made up of steel hsithandle is made up of wood?
iii) Explain in your words the six methodss#paration of solid-solid mixture.

V. i) write the molecular formulae of the followimgmpounds

a) Hydrogen sulphide e) Sand

b) Calcium oxide f) Carbon monoxide
c¢) Hydrogen and Chlorine g) Washing soda

d) Baking Soda h) Chalk

i) Explain why a spacecraft is made up @fmalumin ?

iii) What is saturated solution?

iv) How is Sodium Chloride different from itenstituent element sodium and
chloride?






XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class. VI F.M-80
Sub:- Computer Applications Time: 2 hrs.
I. Fill in theblanks. (1x10=10)
1. - . Is a ready-made button for defining hypéklon a slide.
2. The Actlon Setting dialog box contains two tabs abm................... and Mouse Over.
3. Slide Master consists of ................... place holders.
4. The ............... button helps to decrease the size obihrite.
5. .. ..blocks draw a trail as the Sprite movediun Stage.
6. . is the place where we pick and drop tloeeks to create a script.
7. The . . button is used to stop the projectrgt 8me during execution.
8. Blocks N e, block category are round in shape
9. When a word is saved in a variable it is called a...................
10. Variables can hold ............... values at a time.
.M uItipIechoice questions. (1x10=10)
1. ... . effects can be added to objects on slide.
a. Anlmatlon b. Transition c. Sound
2. The recorded sound files are saved with the exdans.................
a. .midi b. .wma C. .wav
3. Name the box which on clicking displays the shi@gcription of the block.
a. Help b. Sprite Info c. Info
4. The collection of stepwise instructions given t8@ite is known as ......................
a. Blocks b. Script c. Stage
5 .-button increases the size of the Sprite.
a. Grow b. Shrink c. Duplicate
6. The y value of the stage can range from .................
a. 240to -240 b. 180 to -180 c. 480 to -480
7. Name the block that makes the Sprite disappear the Stage.
a. Show b. Hide c. Remove
8. The block to add two numbers are located under.the........ block menu.
a. Operators b. Sensing c. Pen
9. The Operators block menu has ..................... colour caoledks.
a. Light Green b. Blue c. Red
(0 . block category is used to create varialihes Scratch project.
a. Sensmg b. Data c. Pen
[11. Differentiate between the given set of blocks. (2x2=4)

1. repeat and repeat until
2. if then and if then else

V. Answer in oneword. (1x5=5)

1. Which option is used to increase the size of th&&p

2. Name the type of blocks that perform the main commfsa

3. Which dialog box displays a short description @& selected block?

4. Which purple color-coded block displays a Spritéhva thought bubble containing the
specified text?

5. How many blocks are there under the sound category?



V. Answer the following. (2x10=20) Remove Watermart low
1. What is meant by Transition?

2. What is an Action Button? Why do we use it slide?
3. What is the use of Slide Sorter View?

4. What is Slide Master?

5. What is Scratch? Explain the main features otSh.
6. What does the Sprite Info Pane display?

7. What do you understand by backdrop?

8. What is the purpose of the Scripts Area?

9. What is the purpose of using a variable?

10. Explain the use of forever block in scratch.

VI. Match thefollowing. (1x6=6)
] move @Y steps a. This block sets the Sprite’s volume togpecified
amount.

2. b. This block changes the Sprite’s costuramfits

current costume to the next one in the Spritets lis

c. This block instructs the Sprite to follole mouse
pointer or another Sprite.

d. This block changes the pen’s size by peeisied
value.

steps in forward direction.

next costume
5. e. This block moves the Sprite the specifiethber of

ESHEE] mouse polnter f. This block is used to turn the Sprite lookwise

direction.

VII. Application based questions. (1x5=5)

1. Aaryan viewed the presentation designed by hisdrind found the numbers tagged near
an object or text. Help Aaryan in understandingdigaificance of the numbers that
appear near the object and text.

2. Rahul loves to play Guitar. While working on hig&ch project, he wants to play the
sound of Guitar. Help him by suggesting the appat@iblock to do the same.

3. Kartik is learning programming in Scratch. He watotgreate a new project, which
displays random numbers on the stage. Suggestailock he can use for the same.

4. Priyanka wants to create a new variable ‘Scor&enScratch project. Suggest her the
appropriate block to do the same.

5. Riya wants to create a program in Scratch whetkearSprite changes costume 15 times
repeatedly. Suggest the block that Riya shouldabske creating her script.



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI F.M-80
Sub:- English Language Time: 2 hrs.
1. Write a composition on any one topic of thedaling: (word limit: 200-250) (20)

a) Name and describe someone who has been arati@pifor your life.
b) Narrate what is the most selfless thing that lyave ever done?
c) look at the picture given below and write a gtoiyour own:

2. Letter — writing: (20)
a) Write a letter to your friend inviting him / hter celebrate Durga Puja festival with you .
or
b) Write a letter to your younger brother / sistdwising him / her to work harder for exams.

3. Read the composition and answer the following: (15)

Trees are of importance not only to man but aldairils and animals. The branches of trees give
shelter to millions of birds and forest give shett® numerous wild animals. We value trees noy onl
for their usefulness but also for their beauty.yrhave a way to refreshing the eye and also the.min
Perhaps that is why the rishies of olden days weaen to the forests, and they and their people n
chose to going forest homes in the company of eatarmodern times when Rabindranath Tagore
started a school , he too chose a place full estend called it Shanti Niketan or the home of peac
Once upon a time large areas of India were cowerddforests full of numerous kinds of trees. As
the population grew, trees began tio be cut dowmian’s use. That is how the wonderful forests
described in our ancient poems came to be destrayed a great part of our forest wealth was lost.
Now we are trying to replace this loss, and ouregnment wants trees to be planted all over the
country .a new festival called * Van Mahotsava $ lheen started for this purpose .since trees are th
country’s wealth we must consider it our sacreq difprotect them. We should plant new trees
wherever we can and look after them well.

a) How are trees important for birds and animals? (6x2=12)
b) Mention the reason that became the cause fatebkeuction of our wonderful forest.

¢) How can we replace the loss of forests?

d) Why is’ Van Mahotsava’ organized?

e) What message do we get from the above passage?

f) Give a suitable title for the above passage.



g) Give the synonyms: )

1. shelter-
2. population-
3. protect —
4. Fill in the blanks using suitable Modals : (5)
a) People ................... exercise regularly.
o) You like to visit the Museum with us?
c)She ..o answer any questions.
d)You .......cooviiiii Leave the room at once.
€) e god help you!
f) How many game .................. you play?
e)Theboy ........ccoveiinnn. have worked hard.
Dl go to the disco tomorrow.
g)............ | go now to the market?
h) You....... sit straight, otherwise you will develback pain.

5. Underline the Infinitives , the Gerunds andmaeticiples in the following and write
‘In* ‘G, and ‘P’ in the spaces given : (6)
a) Walking on the road he met his friend. .l
b) You are good at drawing. L.
¢) I do not know how to swim.
d) Bathing is necessary for health.
e) Sita likestodance. L
f) The car standing at the gate is mine.

6. Make adverbs of the following given words anertimake sentences of your own with those

adverbs : (10)
a) simple — f) sad-
b) real — g) shy-
c) fierce — h) angry-
d) noise — i) happy-
e) careful — j) loud-
7. change the voice of the following given sentsrice (8)

a) My mother is cooking the dinner.

b) My watch has been stolen.

c) | gave the beggar some food

d) The florist sells flowers.

e) She was laughed at by all.

f) Who wrote this letter?.

g) A lifeguard rescued the drowning woman.
h) He was called a fool.

8. Do as directed: (6)
a) Most people want peace. (Change into Simple Raste)
b) He has just returned. (Change into Future Peffese)
¢) Will you be visiting this place? (Change int@&ent Continuous Tense)
d) He earns a six figure salary. (Change into PiteBerfect Continuous Tense)
e) She did not know anything. (Change into Simpksént Tense)
f) He is riding a horse. (Change into future Comtins Tense)



Class: VI

XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Sub:- English literature

I) Answer thefollowing questions:

1
2
3
4.
5.
6
7
8
9.
1

Describe the appearance of Brown wolf.
In what way the dog was unsociable when he firs¢ed?
How does Miller prove that Brown was his lead dog?

. Why did Merlin advise the Archbishop to send fdithé Knights?

F.M-80
Time 2 hrs.

(10 x 3)

Why was it difficult for the Knights and princesacsknowledger Arthur as King?

. What made Tabby’s cheeks turn pale suddenly?

How does the fountain look during the day and tlgat? What does it do?

. What does ceaseless aspiring mean? How does thiifioaspire?

What does the speaker wish for in the last stah#t@aegpoem “The fountain”?

1) Meanings-

1)
2)
3)
4)
5)
6)
7
8)

Blithesome
Aweary
Thy
Aspiring
Stoothy
Aflame
Trail
Topaz

[11) Opposites :-

1)
2)
3)
4)
5)
6)
7

Futile
Abandoned
Dusty
Famished
Unsociable
Constant
content

IV) Referenceto the context

1.

“it ain’t going to be easy. | can tell you that ”

a) Who said this to whom?
b) What is not going to be easy?

2.

“You are on the right track”

a)
b)

Who said this to whom?
What is the right track?

0. What according to the speaker are the inherentitipsabf the fountain?

(1x8)

(AIx7)

(2x4)

(2)

(2)
(2)



V) Explain thelines (4x3)

1)

2)

3)

4)

“Ever in motion,
Blithesome and cherry”

“Full of a nature
Nothing can tame”

“let may heart be
Fresh, Changeful, Constant”

“Waving so flower like
When the winds blow”

V1) Complete thefollowing sentences:- (1x5)

arwnpE

Walt and Madge loved wolf very much because
Wolf’'s response on seeing skiff Miller show us that
Wolf’'s attempt to keep Miller and Walt together slsathat
Every Knight in the region wanted
The knight and the princes were terribly angry bisea

VII) Write the first 3 stanzas from the poem “The Fouritd/ention the poet’'s name. (10)



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI F.M-&
Sub:- Geography Time: 2 hrs.
SECTION —|
I. Complete the following sentences given below: 10
1o e is the capital of Brazil.
2 ———— ocean lies in the wedsfouth America.
3. Gran Chacomeans .........ccccccceernnne
4. Pampas is famous forits .................. grass.
5. and............... climatic condits are found in the Amazon river basin.
B. s and...................ee... CrOpS are grown in the Amazon basins.
T e, and............... are Zaid crops.

II. Write TRUE for correct answers and FALSE for th e wrong answers
and_CORRECT them: 10

1. Zaid crops are sown between rabi and kharif crops.

2. In India the Green Revolution was introduced inA95

3. Mount Cotopaxi is the highest mountain peak of B@rnerica.
4. French Guiana is a French territory.

5. The Orinoco river basin also called Danos.

6. Uspallata joins Argentina and Uruguay.

7. River Amazon is 6,400 km long.

8. Armadillos are giant ant-eater.

9. Selvas is tropical rainforests.

10. Falkland is a British colony.

lll. Give short answer to the following questions: 10

1. Name the smallest country of South America.

2. Name the leaders of South America who rebelledsgéne Britishers.
3. Name the highest waterfall of the world.

4. What is archipelago?

5. Name the world’s largest river basin.

6. What do you mean by Amazonia?

7. What is the Amazon basin termed as?

8. What are the two Latin words for agriculture?

9. Which soil is good for the growth of rice?

10. Which countries are known as the ‘Sugar Bowl' & ttorld?

IV. Match the following: 5
1. Brazil do not let sunlight enter to enter theekts
2. Selvas old crystalline rocks
3. Canopy the driest place on the earth
4. Eastern highlands tropical rainforests
5. The Atacama desert Roca



Remove Watermark Now

V. Define the following: 5
1. Food crops 2. Isthmus 3. Cordillera H4midity 5. River Basin
VI. Mark the following on the outline map of SouthAmerica: 10

1.Chile 2.Mt. Aconcagua 3.Guiana HighlandsArdazon Basin 5.Atacama Desert 6.Andes
7.Cape Horn 8.South Atlantic Ocean 9.North flRa€icean 10.Uruguay

SECTION —II

VII. Answer any three types of the following questns:- 30

1] a. Identify the picture and write what type

of crop is it. 2

b. Write few points on it. 2
c. Name the areas where it is cultivated. 3
d. What are the climatic conditions required

for its growth? 3

2] a. Identify the picture and write

where it is ? 2
b. Who live in this? What type of agriculture
do they practice? 2
c. Write few lines about their lives. 3

d. Why is this place sparsely populated? 3

3] a. Discuss the La Plata River Basin. 2
b. Name the major physical divisions of Southekica. 2
c. Describe the Western Coastal Strip. 3
d. Distinguish between Western Mountains aedgastern Highlands. 3

4] a. Which are the languages spoken in Latin Araric 1
b. What do you mean by Latin America? 2
c. What are the latitudinal and longitudinetemt of South America? 2
d. Name the countries of South America throwyich the Tropic of Capricorn passes. 2
e. Give a short note of the political divisiehSouth America. 3






XAVIER SCHOOL, GAMHARIA
2"d Term Exam-2018

Class: VI F.M-80
Sub:- G.K Time: 2 hrs.
1) Match thefollowing :- (1x10=10)
a) Synonym of enemy i) 1955
b) Sir Isaac Newton i) Odd
¢) Margaret Court iii) Nobel prize for phgs & Chem.
d) Gabriel Garcia iv) Maximum Wimbledon §lie title
e) Antoine Lavoisier v) 1967
f) Leaf Storm vi) Foe
g) Synonym of weird vii) Laws of Gravitatio
h) Martina Navratilova viii) Born in France
i) Marie Curie ix) Maximum Grand Slam tile
j) One Hundred Years Of Solitude X) Nobekgprior Literature
2) Fill in the blanks:- (1x10=10)
a) face : expression : : hand :
b) was the first Indian to win@ign Wimbledon title.

¢) A bionic ear is commonly called a
d) Gabrial Garcia was born on .

e) developed a high — qualityoscopic lens.
f) An annual calendar of dates and eventsliscca

0)] has been recorded as timeestyear.

h) is the only reef visiblenfrihe space.

i) The first novel written by Gabriel Garcia sva
J) Full form of AMR is

3) State whether the following statementsaretrueor false:- (1x10=10)
a) Jagdish Chandra Bose was born in England. ( )
b) William Harvey discovered that the hearsdidte a pump. ( )
c) Gabriel Garcia passed away off April 2016. ( )
d) In 2015 the United Nations Climate Changaf€gence was held in USA. ( )
e) A journey on foot usually on a hilly terragnknown as safari. ( )
f) A book organized to show words with simitaeaning is called Thesaurus. ( )
g) The first Wimbledon Championship was held &877. ( )
h) Coal and diamonds are non-reactive non-isetal ( )
i) Hectare, acre and barn are the units usetesure volume. ( )
i) A drone is an unmanned aerial vehicle thatsed for monitoring purpose. ( )
4) Question related on current affairs:- (1x10=10)

a) Who emerged the winner of the Canadian Gudhtitle -2018?

b) Who are the two winners of Ramon Magsaysaarls 2018 from India?

¢) Who is the new Prime Minister of Pakistan?

d) Who emerged champion of the Wimbledon Opem’siSingles title 2018?

e) Who is the first woman Indian athlete to woid in the IAAF U-20 world championship?
f) Who has been selected for Sangita Kalamdtard 2018?

g) Which team emerged champion of th& RIFA Football World Cup- 2018?

h) Who has won the Golden Man Booker Prize?

i) Which two countries are implementing VAT fiie first time in their countries?

1) Which Country unveiled the world’s first #ting nuclear power plant?



5) Answer thefollowing questions :- (2x10=20)
a) What are articulated robots?
b) Write the name of two famous novedstten by Gabrial Garcia?
¢) What is the full form of DARPA? Write thenaiof DARPA?
d) What is coral bleaching?
e) What are delta robots?
f) How does 3D printing work?
g) Define Bionics?
h) Write the name of any two coral reefs?
i) Mention any two uses of 3 D printing?
j) Why robots are preferred for humans?

6) Numerical ability :- (1x10=10)
a) Complete the following series:-
)55,7,85,
e, 13,22,

b) If the cost of one notebook is Rs26.35 thet of six notebooks is

C)A friend’s father tells you he has 8 sons aadnh has one sister. In total, how many children
does he have ?

d) What is the least number which after indreaby 8 is exactly divisible by 18, 28 and 727

e) If you add two to two times the half of twehat will you get?

f) Use the digit 4 four times and apply theibasathematical operators (brackets, addition, -
- subtraction and division) to get 7 as yanswer?

g) Tom is older than Susan, and Jane is youhgerMary. Mary is older than Tom. Who is the

eldest of the four? /\

h)

7) Draw the next figurein each row in the empty box given :- (1x10=10)
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XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI F.M-8
Sub:- History & Civics Time: 2 hrs.
A) FEillin the blanks. (5%1=5)
1. Alexander invaded India in the year

2 and his son Ajatshatru were the two poweulelrs of Magadha.
3. The original name of Mahavira was

4. laid the foundation of the Mauryan empire.

5. Buddha gave his first sermon at

B) Write true or false. (5%1=5)
1. Buddha preached the' middle path'.
2. Ashoka and Kanishka were the two great followerdamhism.
3. Bimbisara was the king of Avanti.
4. Porus was defeated on the banks of Jhelum.
5. Tamralipti was an important river port.

C) Name the following . (5%2=10)
1. The most powerful Nanda ruler.
2. The successor of Ajatshatru.
3. The dynasty to which Bimbisara belonged.
4. The last Tirthankara.
5. The founder of Buddhism.

D) Match the following. 5x(1=5H
1. Alexander a. Jain texts
2. Ajatshatru b. Buddha'’s life stories
3. Udayana c. Succeeded Bimbisara
4. Angas d. Laid the foundatidriPataliputra
5. Jatakas e. King of Macedonia
E) Write the meanings of the following terms. (5%2=10)
1. Monarchy
2. Confluence
3. Scriptures
4. Renunciation
5. Vernacular
F) Answer the following guestions. (10x2=20)

1. What is meant by the term ‘mahajanapadas’?

2. Name any two republics that flourished during Bhald time .

3. What was the religion of Bimbisara?

4. What is known as triratna in Jainism?

5. When was Gautama Buddha born?

6. Where did Mahavira attain Nirvana?

7. Name the capital of Magadha whose foundation wd$ka Udayana?
8. What was the religion of Bimbisara?

9. Why was the Shakya tribe famous in Indian history?

10. Which was the southernmost mahajanapada?



G) Answer any five of the following guestions. (5%4=20)

1. Write a note on the effects of Alexander's invasion
2. Mention the factors that helped Magadha emergheambst powerful kingdom.
3. Write the names of the sixteen mahajanapadas.
4. Mention the points of eight-fold path in Buddhism.
5. What are the ‘four noble truths 'of Buddhism?
6. Write a note on the rise of Buddhism.
H) Multiple choice guestions. (5%1=5)
1. The most powerful kingdom of sixth century BC imlia was:
(a) Kosala (b) Magadha (c) Ayodhya (d) Avanti
2. Which of the following was not one of the 16 mahajadas?
(a) Taxila (b) Vatsa (c) Kuru (d) Anga
3. The Jain temples are at:
(a) Sanchi (b) Dilwara (c) Nalanda (d) Kushinagar
4. Buddha gave his first sermon at :
(a) Vaishali (b) Pava (c) Sarnath (d) Kushinagar
5. What was the name of Buddha'’s wife?

(a) Yashoda (b) Yashodhara (c) Mayadevi (d) High



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI F.M-80

Sub:-

Moral Science Time 2 hrs.

ALL THE QUESTIONS ARE COMPULSORY (16x5=80)

1)
2)
3)
4)
5)
6)
7
8)
9)

What will you do to bring smile on your parent'sé® (mention any 5 points)

When can laughter be harmful?

Discuss the situations where laughter helps you.

How would you spend a precious moment with yourilfg

Explain the phrase, ‘ time and tide waits for none.

Which areas in your lives usually get the leasefiriivhy?

What is the importance of time?

When can a forty minutes period seem to be 2 Hoag? Why is this?

Why did Betty not laugh at the party? What would ylw, if you had been in Betty’s place?

10) Discuss any 5 situations when we should not laugh.
11) If anyone makes fun of your appearance, how wdwgéféct you? What would you do to

come out of that situation?

12) What does the scripture from Bhagvad Gita expldidsztion is greater than inaction.

Perform therefore your task in life.”

13) If a student laughs during the national anthem, hvawld you correct him/ her?
14) What does it mean- “Let no moment of your life sliinoticed away.”

Dhammapada

15) How can you profitably utilize the time after schbours, write an action plan for it.
16) Write a prayer, asking God, where you can brindeson others face and do not waste the

precious time.



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018
Class: VI
Sub:- Mathematic

Section: - A

1. Fill in the blanks: -

a. The place value of the digit 3 in the decimahbars 15.437 is
b. The smallest number up to three decimal place is .

c. Fractions having different denomination areezhll

d. A collection of an object is called

2
€.~ X60=

3 -

4 2
f.—=+-—-=

15 5

_ 422

g. The decimal number % =

40
h. Simplest form of2—0 =

i. 4.5 of Rs.40 is equal to

j- In the ratio 3:5, the first term is andastterm is .

2. Answer thefollowing questions: -

a. Find the value of 18% of Rs. 450.

b. Check whether the two ratios 9:15 and 18:24 fanmnoportion or not.
c. Express as Km using decimals 888 m.

d. Add: - 5.87, 1.03, 0.1

e. Arrange decimal numbers in ascending order:-
4.53, 4.07,29.1, 0.9, 0.709

f. Write decimal number in the expanded form 43.06.

g. Show the decimal numbers on a number line:-
i)1.1 ii)2.5

h. If the cost of 9 m cloth is Rs. 378. Find thetaaf 4 m cloth.

4 3
i. Find the value of§2+35

5 9
j. Compare the fractions— ,—
13 '13

F.M-80
Time 2 hrs.

(1x10=10)

(2x10=20)



Section:- B

3. Answer thefollowing questions:- (3x10=30)

a. Write the set in tabular form and in descripfiwen:-
{x:x is an odd prime number less than 30}
b. Arrange the fractions in descending order:-
S5 47
17’912
Simplify: & + 1 + 2=
c. Simplify: -+ 2
1 1
d. Naina was givenzlpiece of cake and Najma was give3np1ece of cake. Find the total
amount of cake that was given to both of them.
e. Find: - 7.4-2.19-0.456-3.5
f. Evaluate: - 3.7x4.5
g. Find: - 8.46 + 3.6
h. Six men pack 312 parcels per day. Find the nuwibgarcels packed by 11 men per day.

i. The population of a village is 4800. If the nuenlof females is 2160, find the ratio of males to
that of females.

J. Find the ratio in simplest form: - 8 months tgears.

4. Answer thefollowing questions: - (4x5=20)

a. Present age of father is 42 years and thasafdn is 14 years. Find the ratio of:
i) Present age of father to the present ageiof
i) Age of father after 10 years to the agsaf after 10 years.

1 3
b. The speed of a car is 1-505m/h. find the distance covered by it i15=| Bours.

c. Dravid travelled 26km54m by bus, 105km965m hyasad the rest 1km 87m he walked.
How much distance did he travel in all?

d. Evaluate i) 3.6x1.4x0.7
ii) 0.144+0.02

simolifv:- i) 5-4 + L7 i3
e. Simplify:- i) 4 +1s i) 535



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: VI F.M-&
Sub:- Physics Time: 2 hrs.
Section — A (40 marks )
All guestions compulsory
Q1. Fill in the blanks. (1x10=10)
a. Friction the motion.
b. We use ball bearings to thaini.

Q2.

Q3.

Q 4.

c. A body falls downwards because of
d. Mechanical advantage of an inclined plane |sayiw
e. The mechanical advantage of lever is equal to

f. For an ideal machine the efficiency is

g A is the modified form of an inclingdne.

h. The capacity of doing work is called

i. On pulling a string, its changes.

j- A pulley changes the of force.

Define the following:- (2x5=10)
a. machine d. screw

b. wedge e. Efficiency of a machine

c. friction

A. Name the class to which the following levieetong. (1x6=6)

(i) alemon squeezer
(if) a pair of tongs
(iii) bottle opener
(iv) beam balance
(v) a pair of pliers
(vi) an oar of a rowing boat
B. solve 4)
In a lever, fulcrum is at one end atstatice of 30cm from the load and effort is at the
other end at a distance of 90cm fromdlad. Find:
a. The length of the load arm
b. The length of effort arm
c. The mechanical advantage of a lever
(3+2+2+3)
a. Draw a neat and labelled diagram of a pullegreyement.
b. Draw a diagram showing any one effect of thedan an applied object.
c. Draw a diagram to illustrate the position oftfuim, load and effort in a see saw.
d. Solve
Calculate the mechanical advantage of a lever iclwihe effort arm is 60cm and load arm is
4cm.



Section — B (40 marks)
ANY FOUR
Q5. (2+3+2+3)
a. Define mechanical advantage of a machine.
b. Write three ways of reducing friction.
c. Explain: It is difficult to open an inkpot withe greasy or oily hand.
d. Write any three effects of force.

Q6. (3+3+4)
a. How does a wheel help in moving the axle?
b. Define rolling friction.
c.'A machine is 75% efficient’. What do you undarsd by this statement?

Q7. (2+2+6)
a. Define gravitational force. Give an example.
b. When does a body said to be in motion?
c. State two differences each between the threseseaof levers. Support your answer with
the diagrams of each class of lever.

Q8. (2+2+3+3)
a. How the mechanical advantage of a lever candreased?
b. State two functions of a machine.
c. Give three examples to illustrate that frictism necessary evil.
d. What is the principle on which a machine works?

Q9. (4+2+2+2)
a. What is an inclined plane? What is its use? @Gueeexamples where it is used.
b. Which offers more friction on a body: a glasgate and a wooden surface and why?
c. State two factors which directly affect the foaf friction.
d. What is the mechanical advantage of an ided&tyl
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